
Year 1 Maths Addition, Subtraction and Multiplication Word Problems 

Use your knowledge of addition, subtraction, and multiplication to answer these word 
problems. You are not expected to answer all of them, just answer as many as you 

can in the lesson. 

Red challenge is on the next page.  

Ashley had 16 colouring 

pencils. Joe takes 7 to use. 

How many does Ashley have 

left? 

 

There are 10 dogs on the 

bench. Each dog has 10 bones. 

How many bones are there 

altogether? 

Jack had 17 magic beans. He 

accidently dropped 4. How 

many does he have left? 

 

There are 8 cats in the tree. 

Each cat has 2 ears. How many 

ears are there altogether? 

 

Jim had 8 sweets. Lee gave 

him 4 more. How many sweets 

has Jim got now? 

 

There are 6 cars in the car 

park. Each car has 5 people in. 

How many people are there 

altogether? 

Liz had 11 slices of pizza. She 

ate 5 slices. How many does 

she have left now? 

Sam saw 15 rabbits in the 

field. 7 rabbits hopped away. 

How many are left in the field? 

Sammy the giraffe has 5 spots. 

Timmy the giraffe has 6 spots. 

How many spots are there in 

total? 

There are 9 cars in the car 

park. Each car has 5 people in. 

How many people are there 

altogether? 

The happy penguin ate 4 fish. 

His friend ate 5 fish. How 

many fish did they eat in total? 

There are 10 cats in the tree. 

Each cat has 2 ears. How many 

ears are there altogether? 

There are 2 dogs on the 

bench. Each dog has 3 bones. 

How many bones are there 

altogether? 

There were 7 stars in space. 

An alien spaceship zapped 3 

away! How many stars were 

left? 

Tom had 13 cars. Jen gave him 

4 more. How many cars has he 

got now? 

 



Red Challenge  

You will need to use your knowledge of addition and subtraction to solve this problem. 

You can use any method of your choice or objects to help you solve the problem.  

 

There are three baskets, a brown one, a red one and a pink one, 

holding a total of ten eggs. 

The Brown basket has one more egg in it than the Red basket. 

The Red basket has three fewer eggs than the Pink basket. 

How many eggs are in each basket? 

 


